<o @> (rad)

< 00, > (M)

<opyp, > ()

o
[N

o
=
a1

< o cot(y) >
o
=
a1

..........................................................

o
N

...........................

0.3 pr ] -0.1+ | EERRRRRRREAREREEERr RELLLER

0-02firhmt sl bbb 002

iy

T
|
N

P mm
N
|
AN

1 0 1 2 3 092 o 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFit1000__ RECO

—e— DQM_V0001_R000000001__Global__mkFit100__RECO
100 T " T T T = 100

: : e FEITHT MUT :
80F- e 2 gof- -ttt 4
r : A L . : : :
60F e S 60E-1-1- k=S 1
3 : o F " : : :
40f- S| v aob{ bt AL R
r : : [ P : X :
20F It 1 - 20 gt St {
of : || = of - fi-ft- 4 IRl AL HE -
“2of Wi - “20f- g fr- SRR AL
-40F FY | SE —20F-{-F-H-H - THRT S - -
-60[ : : : (| N —60F-{-t-H--H---4 SR
=80F -+t E A - =80F-{-t-#--1F-- -
l@of....l....l....l....I....I.... .9—1(}05""!""""""""""""
[ I r i
[ o [ :
-1t - 1T I -t
095327 -1 0 1 2 3 095327 -1 0 1 2 3

TP n (PCA- to beamline) TP n (PCA- to beamline)

5 T ;
SO O 10 1 -
S .-
2F g pt i A+t k-
e -
oF-- R
4 B (LIt
o B 1 113
_35_ : : )
4 fe il Al R

S 1| I I |
1:_. 10403

0832 -1 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


